3.8 The Tangent Function
AP Precalculus
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| Write an equation that represents all asymptotes of the graph of f in the xy-plane.

1. f(8) =tan(30)
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2. f(0) =tan(60)
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3. f(6) =tan (g)

Pecik= Sy

0= % + kg, for integer values of k.

0= % +k %’ for integer values of k.

0= 5;” + k5m, for integer values of k.

[
| In the xy-plane, the angle 0 is in standard position. What is the slope of the terminal ray of the angle? |
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| Evaluate.
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| Graph each trig function. |
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3.8 The Tangent Function
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3.8 Test Prep

15. The graph of the function g is given in the xy-plane. If
g(x) = atan(bx) — 20, where a and b are constants,
which of the following could be true?

I. Ifa>0thenb>1

II. Ifa>0thenb<0 \/

. Ifa<Othenb >1 \/
IV. Ifa<Othenb <0

(A) I only (B) IV only

(D) II and III only
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(C) Tand IV only
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16. The graph of f(x) = tan(bx), where b is a constant, is shown in ;
the xy-plane. What is the value of b?
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17. The figures shows the graph of f(x) = atan(bx), where a and g
b are constants, in the xy-plane. The graph of f has two 7
vertical asymptotes at x = —m and x = 7, and a point with :
coordinates given is on the graph of f. What are all solutions 4
to f(x) = 1.829? / 3 /
5 )é;r,lqzslz 1.829)
L g :
(A) x = 2.317 only s > |
(B) x = 2.317 4 mk, where k is any integer :4
(C) x =2.317 + 2mk, where k is any intey -6
(D) x = 2.317 + 3wk, where k is any integer Grap.I; of f
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